FREQUENCY = 10 YEAR

TOTAL AREA=11.27-3.05(POND#1)=8.22 AC.

FREQUENCY = 25 YEAR

FREQUENCY = 50 YEAR

FREQUENCY = 100 YEAR

1) COMMERCIAL [2)OFF— |3) RESIDENTIAL 1) COMMERCIAL |2)OFF~ |3) RESIDENTI AL 1) COMMERCIAL [2)OFF— |[3) RESIDENTI AL 1) COMMERCIAL [2)OFF— |[3) RESIDENTIAL
SITE SITE ISITE SITE
[POND—2 JPOND—1 DIRECT [ THROU [IHROU {FOND—2 [POND—1 DIRECT | THROU [THROU {FOND~ 2 JPOND~1 DIRECT | THROU [THROU PGND—2 [POND—1 DIRECT [THROU TTHROU —
8.22 AC.| 3.05AC. DISCH | LINE:"A" LINE:"F” 8.22 AC.| 3.05AC. DISCH | LINE:"A"| LINE:"F" 8.22 AC.| 3.05AC. DISCH | LINE:"A" LINE:"F" 8.22 AC.| 3.05AC. DISCH | LINE:"A" LINE:"F"| * = AREA 48
c= | 0.35 0.9 0.9 0.5 05 | 05 c= | 0.35 0.9 0.9 0.5 0.5 0.5 c= | 0.35 0.9 0.9 0.5 05 | 05 c= | 0.35 0.8 0.9 8.5 0.5 0.5 * = AREA 4,20,21,22,39
= | 5.68 7.19 719 | 719 718 | 719 = | 6.61 8.22 8.22 | 8.22 8.22 | 8.22 = | 7.42 | 9.01 8.01 | a.m 9.01 | 9.01 = | 83 9.8 9.8 9.8 9.8 | 9.8 ** = AREA 25,26,27,28
A= | B.22 1.005 | 26.077] 1.33 | 4.305| 2.233 A= | 8.22 1.005 | 26.077| 1.33 | 4.309 2233 A= | 8.22 1.005 | 26.077] 1.33 | 4.305| 2.233 A= | 822 1.005 | 26.077] 1.33*| 4.305+% 2.233%4
PRESENT Q= [16.34 | 6.50 [168.74 | 478 | 1548 | 8.03 | Q(TOTAL) = 219.87 CFS PRESENT Q= [19.02 7.43 |192.92 | 547 | 17.69 | 9.18 | Q(TOTAL) = 251,71 CFS PRESENT Q= [21.35 | 815 | 211.48| 5.99 | 19.38 | 10.06 | Q(TOTAL) = 276.40 CFS PRESENT Q= [23.88 | 886 [23000| 6.52 | 21.09 |10.94 | Q(TOTAL) = 301.30 CFS
c= | 09 0.9 0.9 0.5 0.5 | 05 = | 09 0.9 0.9 05 | 05 0.5 c= | 09 0.9 0.9 0.5 0.5 0.5 c= | 0.9 0.9 0.9 0.5 0.5 0.5
= | 719 7.19 749 | 7.19 719 | 719 = | 822 8.22 822 | 822 | 822 | 822 = | 9.01 9.01 9.0t | 9.0t 9.01 | 9.01 = | 9.8 9.8 9.8 9.8 9.8 | 9.8
A= | 8.22 1.005 | 26.077] 1.33 4.305 | 2.233 = | 8.22 1.005| 26.077] 1.33 | 4.305| 2.233 A= | 822 1.005 | 26.077] 133 | 4.305| 2.233 A= | B.22 1.005| 26.077] 1.33 | 4.305| 2.233
FUTURE Q= |53.19 6.50 [168.74 | 478 | 1548 | 8.03 FUTURE Q= |[60.81 7.43 |192.92 | 547 | 1769 | 918 FUTURE Q= [66.66 8.15 | 211.46| 599 | 19.38 | 10.06 FUTURE Q= |72.50 8.86 | 23000 | 6.52 | 21.09 |10.94
C*A= |740 | 090 |2347 | 0.67 215 | 142 C*A= |7.40 | 090 |2347 | 0.67 215 | 112 C*A= |740 | 080 |2347 | 067 215 | 112 C*A= |7.40 0.90 | 2347 | 067 215 | 112
TME |INTN | o-(oApja=(cal a=(oayn ja=(cam [o-(cam _jo=(cmn TDISCH] INFLOW | OUTFLOW | STORAGE a-(eapla=eln_fa~(om _Jo=(on OUTFLOW | STORAGE Jotomrt_ja~tom T.DISCH{ INFLOW |OQUTFLOW | STORAGE TIME | INTN lo=tom_Jo=(ca¥ T.DISCH] INFLOW |OUTFLOW | STORAGE
| | 8.03 131,924.67]22,110,16 192,92 {176,101.01 | 151,024.2525,076.75 10,06 |321.71 | 10 |9.80
7.09 52.87 172.03 | 7 ) a1 | 15 15.00
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ELEV | AREA

[AVE. AREA | VOLUME | CUM. VOL.

TOTAL DISCHARGE 219.87 CFS

i

~  TOTAL BISEHARGE

= 25171 CF8

~  TOTAL DISCHARGE = 276.40 CFS

—  TOTAL DISCHARGE = J01.30 CFS

47,659.08 ~ 32,448.02 CF = 522.00° -521.00
=15,215.06 CF = 1.00
~45,4838.74 —32,448.02 = 13,037.72 CF = 0.86

W.S ELEV = 521.86

85,333.29 ~ 47,659.08 CF
=17,674.21 CF
=57,595.35 —47,659.08 = 9,836.27 CF

W.S ELEV = 522.56

= 523.00° —522.00
= 1.06"
= 0.56’

85,625.83 — 65,333,286 CF = 524.00° -523.00
=20,282.64 CF = 1.00°
=72,37T1.75 —65,333.29 ~ 7,038.46 CF =

W.B ELEVY = 523,35

B5,625.93 — 65,333.29 CF
=85,329.83 —65,333.29 ~ 19,896.64 CF

= 524.00' -523.00'
= 1.00
= 0.88'

W.S ELEV = 523.98

TOR WER=525.00

106 YR WE ELEY. 523.98

BOT WEIR=818.00

wwwwww

GROUTED RIPRAP

BOT POND=815.00

REVISED T© CONFORM, TO CONSTRUCTION RECORDS.

é DATE: /a/év ol

DETENTION POND # 2 (8.22 AC CAPACITY)
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ROCKWALL COUNTY, TEXAS
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3.367 * 6.1 * 3.86™1.5 = 155.76 CFS

TOTAL HEAD = 521.86 — 5¥8.00 = 3.86

H = TOTAL HEAD = 52256 — 518.00 = 4.56

Q = 3367 * 6.1 * 456™1.5

= 200.00 CFS

H = TOTAL HEAD = 523.35 — 518.00 = 5.35

Q = 3367 * 6.1 * 5.35™.5 = 254.16 CFS

H = TOTAL HEAD = 523.98 — 518.00 = 5.88

Q@ = 3.367 * 6.1 * 5.98™1.5 = 300.35 CFS




